M3 2H R E LY S5O

BB O
t 04 0
-e 00@ o e —0

H

%) kt 4
L | R fikaz #H DS ik
W BN HbD R BH 0 KO T HHZ LD
01|17 |B& [R50 ES

H K B Bz KR, AZ
T=H0E A =5
WATADOT iz % N WAT A, NS
VAT DO R—R (AT H—2R) DA

FrBeo 45l 3L
AA—FRT R SOFE, HE gL, 3B — | DRGER)
02 BE BB LTAAGRE- W) Kk, O, RN RIEIA . DY FEhR&E AZ I E—2R
i, WhbLit WhLOD R, BT AE KR
/Eﬁ SN S [z NN A&
P FPINERTHRLOY TS AV KEHRL, 990, AB
B BIIAT (B L—R) Bt AR
Fieaso |50 =9,
JeEIAR—n TeEIAR—n

03| 18 |Bf&  |#KAR- 3K PS

NIEN FEL A 2O
SHHLOHLRLHAMNT JrEERy, ZFil, wohE Shb HOL.AZ, A, LM
EAUBIED ZE, BE BB, SOEHHS N Nt
HHiG(bHA—2R) bbbl

s =) g,
HpEZRL Ry Mr—%Iy 7 A BbHE, il CER

04| 15 |B& |HL—5EA S, FIL— JRHAL, T FEh&E A ¥

K| A Bt T MNEBR, DX
T ayal)—oO~aF—AFZ ~IF—R MIhE Tayal)— A% a—r
SRAYB—A PRAUAT

Fieasseo | 2R A
Fyayhy— (3 [IEPN NS AV VR VRV R
05| 16 |B & |/ boy—2) k536 (5000 |[m—/Ls Sk LS REN NS EEND) WU

4|k IV =By Fa— CoNHE, il v Fa—nFHK 45, FbH A ERE,AZ, 22 DATA
~ha=HIx ~vhn= vIR—X NI L PUNIN
NFF NP

gt 4R =
Blder—TI~T 1 BhderA—TN~T 1

08| 19 |B& |#KK- 5 pS

H| 4 A= NR—zy EhE AZ
OIS RHER — AN e Wy, 9 IFNAKE
H3ELYFOfzY TV b A3 NS =2—
TN—IHITNAT (T =T I YT I R) TN BT T IVAR

P | BT 2 — L
AbEAY—EY— Abp_Y—RY—0DHK

0926 |Bfx |53 8RR 1538 JESAEP S 43

K| 4 A~ EREAB, Fry
Vr—~vl BT b L33, TALF = EnE L
MERIFEZYTH MEIEZ Tayal— x$H), A
DAZDaR—ROAT h—2A) Dz

Firiseo | 4HL =)
RIS OEF SOEF Wb

10| 25 |B & | BT R 35) Pz O, A BRI RS

K| A SIEDOHZ I, TG A, RE
KIRERFEDOEY e, bR, IOFHT | BA N NN
ISV B—A AU

Firiseo | 4HL =)
BIZHEL S SOFFE, ARy Mr—FIv 7 WhHE, il 3L, 5

12|22 |B&  |#RER- B *

& A HE BT IFHNAE, KIR, AZ
N RDF =R RS SR b A T ATARTF—X Eets
FINABEESN—a ORIz N—zy IFONAK, 3= NS
T PoAE (PP a—R) Frin it

o | L A3,
AT IO/ N— T (FFHL—R) AFAD/N— 1T
24 B 2D AR (RER - F3588) * O, Fy—a— DO IROHE e
K| BT ELI 585 KR, 20x, X
it HLADE HA
= Kby R PicaE Kb, 2050, A%
w“ ~ AN EY— ~AHy MY —DFE
B |rgnces a7 var
Sa—hr—% Wk N O, 4L, S — ETY— 4
B0 2HIIH (OK) LodhELr—%(\bD)  2H13H (1) BY—(1bD)
2H20H (1) BBLAEBWARYN —F  2H23H (k) KL/ O3FF)  2H2TH (1) AAX—RUy7v

¥OH15H (H) 2H25H (OR) o249l = (FLAX—CiRERTORE ) Z7V=50 0 A 100ml
K IR—RL, IR XA T 10 ET,



